Multiply 3 Digits by 1 Digit

1. Order these calculations from smallest to largest according to their answers.
Hundreds Tens Ones Hundreds| Tens Ones
Hundreds |Tens Ones
A 140 B. 50 6 < 2 3 4
X 6 X 3 X 4
2. Which calculation is the odd one out?
Hundreds| Tens Ones Hundreds Tens Ones
Hundreds Tens Ones
A B. C
3 0 2 5 3 5 4
X X 5 X
2 1 6 1 2 6 5 6 2
1 2 1 1
3. Adam thinks that both of the multiplications below are correct. Do you agree?
Explain your answer.
4 7 5 4 8 5
X 4 X 3
1 9 0 O 1T 4 9 1
3 2 2 5
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